(RN
<

a(6 @) (rad)
a(d cot(B))
3
—

2

H
S

20 7
107°E o T .I.
u ...'-
[ )
=
M
: -

10*3— ----------- PR o) ------------

2 3
TP1|C§)T (PCA t%obeamlinélf)

— [ NOFIt_StepZ_tibar-phasel-newgeom
M_noCPE_step2_ttbar-phasel-newgeom
M_cpeGenericTime_step2_ttbar-phasel-newgeom
M_cpeTemplatedTime_step2_ttbar-phasel-newgeom

it

— —

IS S T T T .

o (8]

) )

- - 7 I
2 o>

b ko)

o <

B 5]

IO || T

- o
! = b
==l T 1 © H .
+ * 4 1T #|[: ad 105' """ T+
ot + -1 4 H . ¢ .

2 3
TPl[g)T (PCA f%)obeamlinéf)

5

o
=
-

—1 2 3
10 1 TPl[g)T (PCA f%)obeamlinéf)

MR RETT MR R AN
. HE3
H b

H . H 1

101 1

: 2 3
TPlpg)T (PCA tloobeamlin:eL)O



	Contents
	Page 1


